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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

39 AGAAR F & AET §| HET o # IR T AR smr &
oi 9T g

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

T T “Ihfoush YRR HT § SR Fo 3w 40 § T smT A,
“W’W%WW@WW%I

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.

HET U & I, 3§ G-I & @Y & T8 MTANR F-GaH
W, 387 R a0 et & IgEr & RI o= g1 osmwr & A
IH-YREAHT H A0 T & IR At F s =ik

PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.

T TF & fav Aedd &g @A wF gver [Fuila fr a5 &
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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-qRa®, FleE & a@ Ren, den g a@ o wwar §
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.

dre: I R wvwor & 8 Jie / Ruwfa o ard 8, @ 33 sraear # HASh @wwor § A @er |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / 91T Udh

(Answer all the questions) / (?:Pﬁ U B IR %{)

1. TAD Y9 B SR & B f[dded A1 T M0 §|

U6 H99 SUYH fdbed g iR 9 Frfiad
| & SFJAR U UF & W1 Ul PRI Y

"IN IR U5 H o BN |
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein. (1x10)

1.1 DR Bl IR @ AR 3 T8 o

A)  WFdH

B)  dTed o

C) vl URGd

D) e R
The basic architecture of computer was
developed by

A) John Von Neumann

B) Charles Babbage

03] Blaise Pascal

D) Gorden Moore

1.2 ®F 9 UKo A gre & 49 -7
e e $Rel &7

A) FTP

B) SMTP

C) TELNET

D) SNMP
Which protocol provides e-mail facility
among different hosts?

A) FTP

B) SMTP

C) TELNET

D) SNMP

1.3 T AN R

A M

B) M

C) YWl §rd

D)  Uadl fe
Primary Memory is

A) RAM

B) ROM

C) USB Drive

D) Floppy Disk
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1.4
A)
B)
C)

A)
B)

D)

15

A)
B)
C)
D)

A)
B)

D)

1.6

A)
B)
C)
D)

A)
B)
C)
D)

1.7
A)
B)
C)
D)

A)
B)
C)

T A B T Bi TR el 27

Bold

Italics

Regular

Strikethrough

Which of the following is not a font style?
Bold

Italics

Regular

Strikethrough

TE dle H Wl ofdw d forar s
SIRICIe U fAefaRad § 9 oI 9T 87
HHTER

Th IR

T ST RiveH

T TfSex

Which of the following translates a
program written in Assembly language into
Machine Code?

A compiler

An assembler

An operating system

An editor

ufee U o arel Sfagde ¥ fdoude 9
TRE KT H7A @ folg U9 &1 o arell ‘@l
g

Ctrl 3R V

Ctrl 3R X

Ctrl 3R A

Ins

To paste text from the clipboard in the
document being edited, press the keys
Ctrland V

Ctrl and X

Ctrland A

Ins

ST ‘DI BT A
null &1 1 AT
null B AT 8
gellee & Thdl &

SO ¥ PIg TE

The value of Primary key
cannot be null

can be null

can be duplicate

none of these
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1.8 WA W &

A) Udh TRIC IR ST AW ¥ SfREC @1

B) Ud cwelc 3R faau oc & Ua Sfagic &

C) UF BRA IR & Ugd A Py SIRC @

D) Ud cRelc IR <21 9 W &3 SIRFC @
Mail Merge is

A) production of document from a single
template and a data source

B) production of single documents from a
single template and a Clip art

C) production of multiple documents from a
single file and an address

D) production of multiple documents from a
single template and a data source

1.9 fomaw

A) TP HHIER

B) U® 3t qge

C) Tt R

D) T IfRfeT Riew
Linux is

A) A Compiler

B) An Office Suite

C) An Editor

D) An Operating System

1.10 B ROUND(1343.45,-2) Res

A) 1343

B) —1343

C) —1300

D) 1300
The function ROUND(1343.45,-2) returns

A) 1343

B) -1343

C) -1300

D) 1300
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21

2.2

2.3

2.4

2.5

2.6

2.7

2.8
2.9

2.10

2.1

2.2

2.3

24

25

2.6

2.7

2.8
2.9

2.10

T Ry M g AR A A W A AW 2
Ue a4 IuA fdbed g SR I4 Frferied

el & AR U UF & | IUA HRIY Y
"ITHIR” IR T3P § Tof BN | (1x10)

S R TH AHA ol Blscd dl ol
F R T SR ORY RF WG & Bl
Rargfdd o @ed 21

-UHT e ST WM @ o & foly
FIAT 3R FeA & fov v T fdded T
gl

qS ¥, 4 &9 HdeTId (case sensitive) 2 |
HRcy ReH 31 §9Ye, UM SR 3seye 4
forfora fepar ST Febem 2 |

BRCY, S B THRN RS @ fou fefied
Afoe 1

T faveiyor TuT @ forv yrmm fden @1 forem
T YT, PIST Feerh € |

H,S0, @I % # for@ # GRR$T BIaR &l
ST far S B

IR TP Tl Jor ATRIST Ried & |
AEHNTE I8 H <9 H 3T 9o & forv, Tex @l
(ENTER key) &7 SUIT 2IaT 2 |

Reprs, Bgdl Bl GIE 2 |

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer
sheet supplied with the question paper,
following instructions therein. (1x10)

An icon on the desktop that represents a
temporary holding place for files that are
deleted is called as Recycle Bin.
e-Payment is not a smart option for
businesses and organizations to collect
their payment on-line.

In WORD, search is case sensitive.

A computer system can be split into input,
processing and output.

Counters are digital circuit for temporary
storage of data.

The process of writing such program
instructions for an analyzed problem is
called Coding

H,SO, is written in Word using superscript
feature.

Unix is a single user operating system.

In Microsoft Word to increase row in a
table, ENTER key is used.

Record is a collection of File.

M1-R4-0716



3. B X ¥ QU 7U vyt IR a1l &1 M @i Y # U U Rdean defed e / wreal /
qrel | B | ST QU U AT BT Ul $Rd §Y AU fdded ye uF & W Qg 7Y
“ITHIR” SR T3 H Tl N | (1x10)

X Y

31 |[eRe, R 1 Tfhe & folU IRUMN 9R® 09 3 A. | HeH

32 |39 99 fRfeT Rien B. |dffdw

33 |BISc Ad B @ folU SYINT fhar ST+ dTelr difcde C. |3Nad

34 |WURYH ORIy HAND e D. | frmere

35 |fSared i Aigele SR REAlgere™ o $<dl & E. |a

36 |f$fored REmR F. | ®feaw

37 |Swavd G. | fefrom 9urd Rew

38 |Scr Bl dfvied Rigdd ¥ gaRerd &)= Bl bal ol ¢ | H. | 3foreR

39 |d™eR UM H gl g8 S I. | CTRL+S

310 |NHNT ARSHTHT J. | @ RHeR

K. | fora
L. |See
M. | &9

4, A RRT MU yRE ared H A & TS qE W TS AR A1 a9 Bl @lell W W AW | de
SUYd fddey g ok 39 fefeiad el & S|R Ue U3 & &l U T “3HIHaIR” SR
TSd H AU fddmed T BN | (1x10)

A. | AR B. |F12 C. | STe™ Ao RireH

D. |F5 E. |awe F. |8

G. | H. |32 ou .| 60

J. [ 1024 K. [¥¥ L. |16

M. | 32+28

41 TH8fc BT RET TP o B B |

42 dfdcd TR RRCH BT 8 oo B B |

4.3 MG AT ST JA TH BIEA o WIEd & ® H A SR g |

4.4 A O Tl & aRIER B |

45 37Tl offgd @ forv iRy Ao H WRe fbu O W SRe Bl oM &l Ufhar o b w7 H
ST ST §

46 RFA0IR1FYR S TCh H F o Rerfer @1 wfafafe o= g

47 I AT TRIT Aol § 32428 TR XA &, TAH oo & WY H gRumM el 8|

4.8 T TSl SRAGHT GEH Bl .o ol U R AT fHAT I & |

8.9 T B $ w9 H A9 2|

410 SIETHTT oo &1 34 B |
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)
in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10)
X Y
3.1 |Atemporary holding place for text, pictures or A. Modem
graphics
3.2 |Open Source Operating System B. Sorting
3.3 | Shortcut used to save a file C. ORACLE
3.4 |Special memory unit within cpu D. Clipboard
3.5 | A device that accomplishes modulation and E. Bug
Demodulation
3.6 |Digital Signature F. FoxPro
3.7 |DSS G. DECISION SUPPORT SYSTEM
3.8 |The arranging of data in a logical sequence is called. H. Register
3.9 |Ahidden error in a computer program I CTRL+S
3.10 |Popular RDBMS J. Scanned Signature
K. Linux
L. Internet
M. Cache
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option, enter your choice in the “OMR” answer sheet
supplied with the question paper, following instructions therein. (1x10)
A. Master B. | F12 C. | Database Management System
D. |F5 E. | Byte F. |8
G. Binary H. | Word Wrap l. 60
J. 1024 K. | RAM L. |16
M. | 32+28
4.1 A string of 8 bit is
4.2 Base of Octal number system is
4.3 A file containing relatively permanent data is known as file.
4.4 1 GB is equivalent of MB.

4.5 Process of placement of text going past right margin to next line is termed as
4.6 Symbols 0 and 1 represent states of components of a computer.
4.7 If you enter 32+28 in a Excel cell, it will display the result as

4.8 Save As dialog box is open by pressing key.

4.9 is known as a primary memory.

4,10 DBMS stands for
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[T & / PART TWO

($'_{5 IR Y BT IR E(\*)/(Answer any FOUR questions)

5.

a)  SceY fHuic R @) Aawad /T 8?
ABOT Seed Aeiore Rived & 9 Savv
<

b) GIFAId AT Bl 919N H dadf © 75, —50.
qN T DT FIHAT H el : 00010111,
00001111.

c) ScNd & dew § fHfolRed @l @
g @ -

i) UMY BI' 3R BRT ‘Bl
i) ST BT TR

a) What is the need of database Management
System? Give three examples of popular
database management systems.

b) Convert decimal to binary number: 75, -50.
Convert binary to decimal number: 00010111,
00001111.

C) Define the following terms in context of a
database:

i) Primary Key and Foreign Key
i) Data Validation
(6+5+4)

6.

a) 9% PR 4 UG UW & |ed A (dfeH) W
“IT Tools and Business Systems” B DY
SIed (TNIE) R 87

b) i) UATH-Uad ¥ Al B T IWAM &

3R W dY T9l SR frwrfed fdar S
&7

i) WIS H T U1 F T10 DI B,
AT 3R T F YT D AT A
gl

c) A WES TIVRM IR @ige Joiey
SYIRT fohar S &?

a) How to insert “IT Tools and Business Systems”
at bottom of the each page in word file?

b) i)  What is the use of Macro in MS-Excel and

how it is recorded and executed?
i) In a spreadsheet, how to find maximum,
minimum and average of Cell Al to A10.

c) How slide transition is wused inside a
PowerPoint presentation?

(4+6+5)
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gode e Wedlc o fa9mdr 3R Agw @
8°

o A 87

Heid dd @ g &R Hefig @ fif= yaR
T g?

Selgelh BeAe & B TRiloq URAT <7
What are the features and significance of
electronic spreadsheets?

What is a cell?

What is cell referencing and what are the
different types of referencing?

Give some application areas of electronic

spreadsheet?
(5+2+3+5)

HATZOR, ST AR SRR BT ol I |
WH (SPAM) 3R dRRE (VIRUS) & 914
IR T 2?3 e RRed # 37 9 Tld
P I 9T Thd 87

ST WY A, FiE @dd, & w9 H A
Tt &

Compare Compiler, Interpreter and Assembler.
What is the difference between SPAM and
VIRUS? How do you avoid each of the two in
your system?

Why are high level languages known as

machine independent?
(5+5+5)

ISRV B Y U IR BT GHAT BN |
3§19 3R 9T

Rien AlredR 3R TRl AiedR
3ufeie 3R SrSHfid

3 3R W

Support your answers with
Differentiate between:

System Software and Application Software
UPLINK and DOWNLINK

RAM and ROM

examples.

(5+5+5)
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